MAKITA SERVICE INFORMATION

2/11/22, 4:52 PM

Model No.DDF485 CORDLESS DRIVER DRILL

1/4

https://msi.makita.co.jp/MsiWW/MsiWW/swf/print.html



2/11/22, 4:52 PM MAKITA SERVICE INFORMATION

Model No.DDF485 CORDLESS DRIVER DRILL

Homep
ApTukyn Ha OnucaHue CMsaHa KonMHeCTBoNew/OId'ﬂO”b”H1MTe”HOﬂonanZMTenHo3a6ene)+<Ka
yacTTa
001 854U26-8 DDF485 NAME PLATE 1
002 183K32-9 HOUSING SET 1 *
C10 263005-3 WNOT FT'YMEH 6 2 *
C20 252126-6 HEX. LOCK NUT M4-7 2 *
D10 INC. 21 *
002-1 183K32-9 HOUSING SET (0] 1
G10 263005-3 WNeT FrYMEH 6 2
D10 INC. 21
003A 266429-2 TAPPING SCREW 3X16 8 *
003B 266429-2 TAPPING SCREW 3X16 8 *
003C 266429-2 TAPPING SCREW 3X16 8 *
003D 266429-2 TAPPING SCREW 3X16 8 *
BUHT
003-1A 266130-9 CAMOHABMWBEH C (0] 8
BP B3 KA PT3x16
BUHT
003-1B 266130-9 CAMOHABMWBEH C o 8
BP b3 KA PT 3x16
BUHT
003-1C 266130-9 CAMOHABMWBEHC [0} 8
BPBb3 KA PT 3x16
BUHT
003-1D 266130-9 CAMOHABMWBEH C o 8
BPBb3 KA PT 3x16
BUHT
003-1E 266130-9 CAMOHABWBEH C 8
BPBb3 KA PT3x16
BUHT
003-1F 266130-9 CAMOHABWBEH C 8
BP b3 KA PT 3x16
_ NPYXWHA
004 232220-0 NTUCTOBA 2
005 458671-1 SPEED CHANGE LEVER 1
_ NMPYXUHA
006 233438-6 NMPUTUCKALLA 4 1
_ -~-BUHT CMNNOCKA
007 251468-5 FTTABA M6x22 1
008 766027-7 KEYLESS DRILL CHUCK 13 1
009A 126962-5 GEAR ASSEMBLY 1 *
009B 126962-5 GEAR ASSEMBLY 1 *
009C 126962-5 GEAR ASSEMBLY 1 *
009D 126962-5 GEAR ASSEMBLY 1 *
009-1A 127324-0 GEAR ASSEMBLY < 1
009-1B 127324-0 GEAR ASSEMBLY < 1
009-1C 127324-0 GEAR ASSEMBLY < 1
009-1D 127324-0 GEAR ASSEMBLY < 1
009-1E 127324-0 GEAR ASSEMBLY 1
009-1F 127324-0 GEAR ASSEMBLY 1
010 266490-9 TAPPING SCREW PT 2X6 3 *
010-1 265C47-1 < 3
011 652069-6 FLAT HEAD SCREW M3X6 3
012A 620964-8 CONTROLLER 1 *
012B 620964-8 CONTROLLER 1 *
012C 620964-8 CONTROLLER 1 *
012D 620964-8 CONTROLLER 1 *
012-1A 620964-8 CONTROLLER o 1 *
012-1B 620964-8 CONTROLLER [0} 1 *
012-1C 620964-8 CONTROLLER o 1 *
012-1D 620964-8 CONTROLLER (0] 1 *
012-2A 620964-8 CONTROLLER [0} 1
012-2B 620964-8 CONTROLLER (0] 1
012-2C 620964-8 CONTROLLER (0] 1
012-2D 620964-8 CONTROLLER (¢} 1
012-2E 620964-8 CONTROLLER 1
012-2F 620964-8 CONTROLLER 1
013 629372-0 STATOR 1
014 619533-0 ROTOR 1
_ NMPYXWUHA
015 232182-2 NTUCTOBA 1
016 620549-0 LED CIRCUIT 1
Please order the parts with part number. Print Date 11/2/2022

https://msi.makita.co.jp/MsiWW/MsiWW/swf/print.html 2/4



2/11/22, 4:52 PM

Model No.DDF485 CORDLESS DRIVER DRILL

MAKITA SERVICE INFORMATION

ApTukyn HOHMaep OnucaHue CmaHalKonuyecTBO New/OIdﬂonb”H1MTe”HoﬂonanZMTenHo3a6ene)+<Ka
yacTTa
017 aro041-9  (DEEBKIIOABATES 1
018A 650710-5 SWITCH C3JW-4B 1 *
018B 650710-5 SWITCH C3JW-4B 1 *
018C 650710-5 SWITCH C3JW-4B 1 *
018D 650710-5 SWITCH C3JW-4B 1 *
018E 650710-5 SWITCH C3JW-4B 1
018F 650710-5 SWITCH C3JW-4B 1
018-1A 650006-4 SWITCH TGRK2-1 [0} 1
018-1B 650006-4 SWITCH TGRK2-1 [¢] 1
018-1C 650006-4 SWITCH TGRK2-1 o 1
018-1D 650006-4 SWITCH TGRK2-1 [0} 1
019 643874-2 TERMINAL 1
020 854U32-3 DDF485 SERIAL NO. LABEL 1
021 183K32-9 HOUSING SET 1 *
Cc10 263005-3 UWMNeT TrYMEHG®6 2 *
C20 252126-6 HEX. LOCK NUT M4-7 2 *
D10 INC. 2 *
021-1 183K32-9 HOUSING SET [0} 1
c10 263005-3 WHNoeT T'YMEH 6 2
D10 INC. 2
A01 251314-2 BWUHT M4x12 1
A02A 346317-0 HOOK 1
A02B 346317-0 HOOK 1
A02C 346317-0 HOOK 1
A02D 346317-0 HOOK 1
AO2E 346317-0 HOOK 1
AO2F 346449-3 HOOK 1
A03 784637-8 +~ CBPEONO 2-45 1
A04B 158597-4 PLASTIC CASE COMPLETE 1
Cc10 417724-5 PE3E 2
A04C 821550-0 g%h;hégg)TOR PLASTIC CASE 1
c10 453974-8 LATCH 4
A04D 821550-0 ((;ﬁhélél;g)TOR PLASTIC CASE 1
Cc10 453974-8 LATCH 4
AO4E 821550-0 ((_)I_(\)(l\lil\éI;?TOR PLASTIC CASE 1
C10 453974-8 LATCH 4
A05B 450128-8 BATEPUA KAMAK 1
A05C 450128-8 BATEPUA KAMAK 1
A05D 450128-8 BATEPUA KAMNAK 1
AO5E 450128-8 BATEPMA KANMAK 2
AO5F 450128-8 BATEPUA KANMAK 1
A06B **¥xDC18RC [DC18RC FAST CHARGER 1
D10 COMPO-PARTS
A06C **%xDC18RC [DC18RC FAST CHARGER 1
D10 COMPO-PARTS
A06D **xDC18RC |DC18RC FAST CHARGER 1
D10 COMPO-PARTS
AO6GE **%xDC18RC |DC18RC FAST CHARGER 1
D10 COMPO-PARTS
AO06F **x*DC18RC |[DC18RC FAST CHARGER 1
D10 COMPO-PARTS
A07B 197600-6 BATTERY BL1830B SET 2 *
A07C 197600-6 BATTERY BL1830B SET 2 *
A07D 197280-8 BATTERY BL1850B SET 2 *
A07-1B 197600-6 BATTERY BL1830B SET [0} 2
A07-1C 197600-6 BATTERY BL1830B SET 0 2
A07-1D 197280-8 BATTERY BL1850B SET (0] 2
AO7-1E 197600-6 BATTERY BL1830B SET 3
A07-1F 197600-6 BATTERY BL1830B SET 1
A08C 837916-4 INNER TRAY 1
A08D 837916-4 INNER TRAY 1

Please order the parts with part number.

https://msi.makita.co.jp/MsiWW/MsiWW/swf/print.html

Print Date 11/2/2022

3/4



2/11/22, 4:52 PM

Model No.DDF485 CORDLESS DRIVER DRILL

MAKITA SERVICE INFORMATION

ApTukyn |-|OHMa1@p OnucaHue CmaHalKonumyecTBO New/OId'ﬂonb”H1MTe”HoﬂonanZMTenHo3a6ene)+<|(a
yacTTa

AOSE 837916-4 INNER TRAY 1

A09C 818D59-5 EADEEESRFJ INDICATION ’ N
A09D 318D61-8 EADgéESRTJ INDIGATION ] N
A09-1C 818Dg1-9  |DOEASSRFY INDIGATION 0 1

A09-1D 818D93-5  |DDEABSRTJINDICATION 0 1

A09-1E 8033c9-8 |POF4B5RF3J INDICATION ]

A10C 318D60-0 EREEESRFJ PLASTIC CASE ) .
A10D 818D62-6 EEEEESRTJ PLASTIC CASE 2 %
A10-1C 8180927 |PDFABBRFJ PLASTIC OASE o )

A10-1D 818094-3 | PDF4BSRTJ PLASTIC CASE o )

A10-1E 803300-3 | POFAB5RF3J PLASTIC CASE )

A11F 196235-0 BATTERY BL1815N SET 1

Please order the parts with part number.

https://msi.makita.co.jp/MsiWW/MsiWW/swf/print.html

Print Date 11/2/2022

4/4



